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SECTION A  

S. No.  Marks CO 

Q 1 
If    [

𝑥 + 10𝑦 −1
9 + 𝑥 4

] = [
4 −1
0 4

], find the values of x and y. 

 
02 CO1 

Q 2 
Find   

𝑑3𝑦

𝑑𝑥3,   where  𝑦 =  𝑒2𝑥 . 

 

02 CO1 

Q3 Evaluate the integral  ∫ 6𝑥 cos(𝑥) 𝑑𝑥  . 
02 CO1 

 Q4 
If   𝐵 = [

3 2 5
4 1 3
0 6 7

] , Calculate  𝐵𝐵𝑇 . 

 

02 CO1 

Q5 If   𝑃 = [
9 1
4 3

]  𝑎𝑛𝑑 𝑄 = [
1 5
7 12

],  find the matrix 𝑅 such that 5𝑃 + 3𝑄 + 𝑅 is a 

null matrix. 
02 CO1 

SECTION B  

Q 6 In how many ways can a team of 5 persons be formed out of a total of 10 persons 

such that two particular persons should be included in each team? 

 
10 CO2 

Q 7 What is the minimum no. of terms needed so that the sum of 

                                       54, 51, 48, 45, …….  

exceed  the no. 500. 

OR 

Sum to infinity of GP is thrice the sum of the first two terms. Find possible values of 

the common ratio.  

 

10 CO2 

    

SECTION-C 



Q 8 
A. Find   

𝑑𝑦

𝑑𝑥
  at  𝑥 = 0 , where  𝑦 =

𝑥
1
2

8+𝑥
5
2

 . 

B. Evaluate the integral  ∫ 4𝑥3√𝑥4 + 3  𝑑𝑥  . 

 

(5×2)= 

10 
CO1 

Q 9  

Find the extremum for 𝑦 = 𝑠𝑖𝑛 𝑥 (1 + 𝑐𝑜𝑠 𝑥).                                      10 CO3 

SECTION-D 

Q 10 Find the rank of the following matrix: 

[
 
 
 
 
3 0 1 2 4
6 1 0 0 1
12 1 2 4 0
6 0 2 4 8
9 0 1 2 6]

 
 
 
 

 

 

20 CO1 

Q 11 A man invests a total sum of 20000 rupees on government bonds in 5 years. If these 

investments are in A.P and the sum of squares of the investments is 2500000 rupees. 

Find the investment made each year respectively. It is also known that he always invest 

more than the previous year.      

20 CO4 

Q 12 The demand function of  a commodity is given by 𝑝 =
150

𝑥2+2
− 4, where 𝑝 is price per  

unit and 𝑥 denotes quantity. Determine the marginal revenue function. 

 

10 CO4 

 

 


